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Q.1 (6 Points) =l

Find the emf voltage generated at the terminals of a 250 turns square
coil of area 0.1m” centered at the origin in x-y plane if the magnetic flux
density is given by:
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o Q.2 (6 Points) £

In free space at 1.5GHz the direction of propagation is in (0.6ax -0.8ay)

if the power density is 100mW/m? and the electric field is in the +z

direction, Find E and H.
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Q.3 (8 Points) 4~

A plane wave at 6GHz is incident normally from air into a dielectric with

relative permittivity of 4. If the incident electric field amplitude is 10° V/m.
Draw the standing wave in the first media. g
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Q.4 (10 Points)

Given the following standing waves, find x and the characteristic impedance
for the second media.
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